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(a) (255.3125)10 = ( )2
(b) (10011011.101), = ( )10
(¢) (00111101 ), =( )16
(d) (3654)g + (2326)5 = ( )s
(e) (1101); x (101); = ( )2
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(1) (3654)g — (2326)5 = ( )¢ ,(1101), — (1011), =(C ),
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(a)- cin << count
(b)-  duble b=44;
(c)- while n<10 n=n+1;

(d)- for(y =0.1; y!=1;y+=1)cout << y << endl;
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(@) (255)10 = (11111111 ),
(b) (10011011), = (155 )y,
(¢) (00111101 ), = (3D)4¢
(d) (3654)g + (2326)g = ( 6202 )g
(e) (1101), x (101), = ( 11000100 ),
H(4)
(1) (3654)g — (2326)g = (1326)

(2) (1101), — (1011), = (0010),
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<» for, switch, while and do  while 43Y) Jeall dalal) Zapall

(1)-

if (condition)

statementl;

else

statement 2;

(2)-

switch (expression){

case constant 1: statement 1;
case constant 2: statement 2;
case constant 3: statement 3;
Case constant N: statement N;

default : statement 0}

(3)-
while (condition)
{statementl; statement 2; ....statmentn;}
(4)-
do
statement;
while (condition);
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(a)-The input object cin requires the outpout operator >> . It should be



cin >> count ;

(b)- The word double is a keyword in C++; it can not be used as a
variable name. Use:

int b=44;

(c)- Parentheses are required around the condition, and a semicolon is
required at the end. The correct is

while (x < y) min=x;

(d)- The counter may be integer number . The correct is

for(y=1;y!=1;y+=1)cout << y << endl;
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# include < iostream =
Int main ()
{ int i=1, F=1;
cout<< "enter the number n"<<endl;

cin>> n;



while (i<=n)

{ F=F*(1/i);
i=i+1;}

cout <<"F="<<F<<

return(0);}

endl; }
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# include = iostream =

Int main ()
{ int a, b,c;
cout<< "enter the numbers "<<endl;
cin>> a>>b>>c;
if (a<b&&ec<b)

cout <<"the greter number is "<<b<< endl;

if (b<a&&c<a)

cout <<"the greter number is "<<a<< endl;

if (a<c&&b<c)
cout <<"the greter number is "<<c<< endl;

Return 0;}
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